Form 604

Corporations Act 2001 Section 671B

Notice of Change of Interests of Substantial Holder

To Company Name/Scheme	HEALTHSCOPE LIM	ITED (HSP)	
ACN/ARSN	006 405 152		
1. Details of Substantial Hol	der		
Name	Suncorp-Metway Lim	ited and its Subsidiaries	
ACN/ARSN (if applicable)	010 831 722		
There was a change in the Int of the Substantial Holder on: The previous notice was giver The previous notice was dated	to the company on:	02/09/2009 03/09/2009 01/09/2009	

2. Previous & Present Voting Power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate had a relevant interest in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of Securities	Previous Notice		Presen	t Notice
	Person's Votes Voting Power		Person's Votes	Voting Power
Ordinary Shares	22,997,970	7.9245%	25,997,970	8.9582%

3. Changes in Relevant Interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of Change	Person whose Relevant Interest Changed	Nature of Change	Consideration Given in Relation to Change	Class & Number of Securities Affected	Person's Votes Affected
Since	Suncorp Metway Investment Management Ltd				
Previous Notice	Tyndall Investment Management Ltd	Refer Annexure 2			
	New Zealand Guardian Trust Company Ltd				

4. Present Relevant Interest

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of Relevant Interest	Registered Holder of Securities	Persons Entitled to be Registered as Holder	Nature of Relevant Interest	Class & Number of Securities	Persons Votes
		Refer to Annexures	1&2		

5. Changes in Association

The persons who have become associates of, ceased to be associates of, or have changed the nature of their association with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name & ACN/ARSN (if applicable)	Nature of Association
Not Applicable	

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Refer to	Annexure 1

Signature

Print Name:	C. Chuter	Capacity:	Company Secretary
Sign Here:		Date:	04/09/2009

	Annexure		
Relevant Interest Holder	Registered Holder of Securities	Registration Details	Person's Votes
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (AET)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	227,213
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (IPT)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	27,994
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	1,458
Guardian Trust Investment Nominees Ltd	Guardian Trust Investment Nominees Ltd	ANZ NOMINEES CUSTODIAN SERVICES MELBOURNE	65,600
Guardian Trust Investment Nominees Ltd	Guardian Trust Investment Nominees Ltd - Asteron Life Ltd	ANZ NOMINEES CUSTODIAN SERVICES MELBOURNE	17,300
Guardian Trust Investment Nominees Ltd	Guardian Trust Investment Nominees Ltd - Proteus Suncorp Wealth Management Ltd	ANZ NOMINEES CUSTODIAN SERVICES MELBOURNE	2,100
New Zealand Guardian Trust Company Ltd	HUNTER JOHN S AGENCY	THE NEW ZEALAND GUARDIAN TRUST COMPANY LTD PO BOX 1934 AUCKLAND	8,200
New Zealand Guardian Trust Company Ltd	KYDD REMIA MORREN AGENCY	THE NEW ZEALAND GUARDIAN TRUST COMPANY LTD PO BOX 1934 AUCKLAND	4,000
Mr Z E Switkowski	MR Z E SWITKOWSKI	LEVEL 16, SUNCORP CENTRE 36 WICKHAM TCE BRISBANE QLD 4000	30,000
Mr Z E Switkowski	KODOPTEL SUPERANNUATION FUND	LEVEL 16, SUNCORP CENTRE 36 WICKHAM TCE BRISBANE QLD 4000	100,000
Tyndall Investment Management Ltd	NSW BUSINESS CHAMBER LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 13200-14 NDTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	256,502
Tyndall Investment Management Ltd	AMP CAPITAL INVESTORS	AMP CAPITAL INVESTORS LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	3,894,439

		TASMAN ASSET	
Tyndall Investment Management Ltd	CAMBOOYA PTY LTD	MANAGEMENT LIMITED A/C CAMBOOYA PTY LIMITED GPO BOX 5078	381,447
Tyndall Investment Management Ltd	CATHOLIC SUPER FUND	SYDNEY NSW 2001 CATHOLIC SUPER FUND C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	1,068,199
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD IOOF INVESTMENT MANAGEMENT LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C IOOF INVESTMENT MANAGEMENT LTD A/C 16080-18 IMTYAE 5TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	984,244
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MERCER INVESTMENT NOMINEES LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MERCER INVESTMENT NOMINEES LTD A/C 11120-12 WMTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	5,529,049
Tyndall Investment Management Ltd	NRMA TREASURY LTD	JP MORGAN CHASE NOMINEES LOCKED BAG 7 , ROYAL EXCHANGE SYDNEY NSW 2000	303,469
Tyndall Investment Management Ltd	OPTIMIX LTD	OPTIMIX LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	2,253,375
Tyndall Investment Management Ltd	PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY	TASMAN ASSET MANAGEMENT LIMITED A/C PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	108,858
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MARITIME SUPER	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MARITIME SUPER A/C 15579-19 MRTYAE 5 [™] FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	1,358,300

Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN CORE SHARE VALUE FUND GPO BOX 5078 SYDNEY NSW 2001	762,845
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE INCOME FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE INCOME FUND GPO BOX 5078 SYDNEY NSW 2001	28,493
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	6,703,671
Tyndall Investment Management Ltd	OPTIMIX INCOME STRATEGY	OPTIMIX INCOME STRATEGY C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	434,647
Tyndall Investment Management Ltd	CAMBOOYA PTY LTD FOUNDATION ACCOUNT	TASMAN ASSET MANAGEMENT LIMITED A/C CAMBOOYA PTY LTD FOUNDATION ACCOUNT	240,803
Tyndall Investment Management Ltd	WILLIAM BUCKLAND FOUNDATION	TASMAN ASSET MANAGEMENT LIMITED A/C WILLIAM BUCKLAND FOUNDATION PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	251,017
Tyndall Investment Management Ltd	WORKERS COMPENSATION NOMINAL INSURER	WORKERS COMPENSATION NOMINAL INSURER C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	822,397
Tyndall Investment Management Ltd	RAC INSURANCE	RAC INSURANCE PTY LTD GPO BOX 5078 SYDNEY NSW 2001	132,350

TOTAL UNITS:

25,997,970

Annexure 2

PORTFOLIO	TRADE DATE	TRADE TYPE	NET AMOUNT	UNIT PRICE	UNITS				
AMP CAPITAL	INVESTORS								
AMPC	02/09/2009	Purchases	1974689.00	4.30	459230				
TYNDALL AUS	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO								
TASWP	02/09/2009	Purchases	3335742.20	4.30	775754				
CAMBOOYA Ρ	TY LTD								
САМВ	02/09/2009	Purchases	193414.00	4.30	44980				
CAMBOOYA Ρ	TY LTD FOUND	ATION ACC							
VFFF	02/09/2009	Purchases	122098.50	4.30	28395				
CATHOLIC SU	PER RETIREMEN	NT FUND							
CSRF	02/09/2009	Purchases	541632.30	4.30	125961				
ΟΡΤΙΜΙΧ									
ΟΡΤΙ	02/09/2009	Purchases	1142578.80	4.30	265716				
IOOF INVEST	MENT LTD								
IOOF	02/09/2009	Purchases	499062.30	4.30	116061				
MARITIME SU	IPER PTY LTD								
SERF	02/09/2009	Purchases	688726.70	4.30	160169				
MERCER INVE	STMENT								
MERI	02/09/2009	Purchases	2803526.90	4.30	651983				
NRMA									
NRMA	02/09/2009	Purchases	153875.50	4.30	35785				
NSW BUSINES	SS CHAMBER LT	D							
ABL	02/09/2009	Purchases	130062.10	4.30	30247				
	OME FUND								
ТОРТІ	02/09/2009	Purchases	220387.90	4.30	51253				
PUBLIC TRUST	TEE OF ACT								
PTACT	02/09/2009	Purchases	55199.10	4.30	12837				

RAC INSURAN	ICE				
RACI	02/09/2009	Purchases	67105.80	4.30	15606
WILLIAM BUC	KLAND FOUND	ATION			
WBUCK	02/09/2009	Purchases	127280.00	4.30	29600
TYNDALL AUS	TRALIAN CORE	SHARE VALUE FUND			
TACSVF	02/09/2009	Purchases	413169.80	4.30	96086
TYNDALL AUS	TRALIAN SHAR	E INCOME FUND			
TASIF	02/09/2009	Purchases	14448.00	4.30	3360
WORKERS CO	MPENSATION N	IOMINAL INSURER			
WCNI	02/09/2009	Purchases	417001.10	4.30	96977